[ Efficiency vs vertpos |

0.1

20.09
4
20.08
(8]
§0.07
[
£0.06
0.05
0.04
0.03
0.02
0.0

Efficiend

--------------------------------------------
. -
--------------------------------------
---------------------------------
E 3 -+ .
SOOI 0 FUUY OO SR
[ S O e
- : :
. ey
. H=-
caaaholl bl
....... O G 3
10

1

10 0?
TP vertr (cr%)

—s=— ../.JCMSSW_12_4_0_pre3/src/DQM_V0001_R000000001__Global__mkFit_batchCAND-adjusted
—e— ../.ICMSSW_12_4_0_pre3/src/DQM_V0001_R000000001__Global__mkFit_CAND
—— DQM_V0001_R000000001__Global__mkFit_CAND-AFTERCONFLICT3

N 0.1p . :
£0.09--- ------------------------- ,
4 - :
2 0.08F -+ Jefereeiereeenes ] .
> F N . N
2 E ] : :
SO.07E -t S :,
o o i . !
£0.06 -6 -4 2
5] E ; : .
0.05F -+t {4+ -1+ —— 3
0.04F -t -4t {- S 3
0.03F -t {4+ 5;
0.02F - Hi- || m . 1
oo {1 |-l A1
o ofrerdi b ek
g agb bt -+
et
-1 3-4-1-4- HHEHE A - £4-1 -
-30 -20 -0 0 10 20 30

[ Efficiency vs. sim PV z |

TP vert z (cm)

~ 0.05
>
80.045
=
=0.04
%.035
ey
20.03
@
8.025
(]

0.02
0.015

0.01

0.005

19

Ratio

o

o

1 1
| ke ol N 5 . b ol 5
h e | —4 . | . .
. . d i s ) . .
- = = = = N
h . . | .

. -, —=

=6

o
I

SIS A

4 6 8 10

Sim. PV z (cm)




	Contents
	Page 1


